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N.B.:
1) All questions are COMPULSORY.
2) Figures to the right indicate FULL marks.
SECTION -1
Q.1 Attempt ANY TWO of the following: 16)
a) Explain the Indian economy in Pre-British Period.
b) What are the causes of slow increase in Per capital income?
¢) Explain the structure of mineral resource in India.
d) What are the problems of over-population?
Q.2 Write short notes on ANY FOUR of the following: (16)
a) Economic Transformation during British Colonial Rule
b) Present Position of Communication
¢) Structurc of Water Resources in India
d) Causes of High Growth Rate of Population
e) Problems of Low Rate of Saving
f) Backward and Stagnant Indian Economy
SECTION - 11
Q.3 Attempt ANY TWO of the following: (16)
a) What are the difficulties in agricultural marketing?
b) Explain the collective bargaining in India.
¢) Explain the role of foreign trade in India.
d) What is the role of industrialization in the Indian Economy?
Q4 Attempt ANY TWO of the following: (16)
a) [Explain the new agricultural strategy in India.
b) Discuss the Balance of Payment Crisis.
¢) What is the importance of small scale industries?
d) Explain the industrial development during planning period.
Q.5 Write short notes on ANY FOUR of the following: (16)
a) FERA
b) Trends in Imports
¢) Urbanization and Social Problem
d) Labour Legislation in India
e) Sources of Rural Credit
f)  Green Revolution
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